Jordan Journal of Mathematics and Statistics (JJMS) 3(2), 2010, pp.65 - 79

FIXED POINT RESULTS ON A NONSYMMETRIC G- METRIC SPACES

HAMED OBIEDAT⁽¹⁾ AND ZEAD MUSTAFA⁽²⁾

ABSTRACT. We prove some fixed point results for mappings that satisfy certain contractive conditions on a nonsymmetric complete G-metric space. Moreover, we prove the uniqueness of these fixed point results.

1. Introduction

The class of G-metric spaces introduced by Z. Mustafa and B. Sims ([2], [3]) was to provide a new class of generalized metric spaces and to extend the fixed point theory for a variety of mappings. Moreover, many theorems was proved in this new setting with most of them recognizable as a counterparts of a well-known metric space theorems.

Definition 1.1. *G*-metric space is a pair (X, G), where X is a nonempty set, and G is a nonnegative real-valued function defined on $X \times X \times X$ such that for all $x, y, z, a \in X$ we have:

- (G1) G(x, y, z) = 0 if x = y = z;
- (G2) 0 < G(x, x, y); for all $x, y \in X$, with $x \neq y$;
- (G3) $G(x, x, y) \leq G(x, y, z)$, for all $x, y, z \in X$, with $z \neq y$;

Key words and phrases.: Metric space, generalized metric space, D-metric space, 2-metric space.Copyright © Deanship of Research and Graduate Studies, Yarmouk University, Irbid, Jordan.Received: Nov., 24 , 2009Accepted : April 5 , 2010.

²⁰⁰⁰ Mathematics Subject Classification. Primary: 47H10, Secondary: 46B20.

(G4) $G(x, y, z) = G(x, z, y) = G(y, z, x) = \dots$, (symmetry in all three variables); and

(G5)
$$G(x, y, z) \leq G(x, a, a) + G(a, y, z)$$
, (rectangle inequality).

The function G is called a G-metric on X.

Definition 1.2. ([3]) A sequence (x_n) in a G-metric space X is said to converge if there exists $x \in X$ such that $\lim_{n,m\to\infty} G(x, x_n, x_m) = 0$, and one say that the sequence (x_n) is G-convergent to x.

Proposition 1.3. ([3]) Let X be G-metric space. Then the following statements are equivalent.

- (1) (x_n) is G-convergent to x.
- (3) $G(x_n, x_n, x) \to 0$, as $n \to \infty$.
- (4) $G(x_n, x, x) \to 0$, as $n \to \infty$.
- (5) $G(x_m, x_n, x) \to 0$, as $m, n \to \infty$.

In a *G*-metric space X, a sequence (x_n) is said to be *G*-Cauchy if given $\epsilon > 0$, there is $N \in \mathbf{N}$ such that $G(x_n, x_m, x_l) < \epsilon$, for all $n, m, l \ge N$. That is $G(x_n, x_m, x_l) \longrightarrow 0$ as $n, m, l \longrightarrow \infty$.

Proposition 1.4. ([3]) In a G-metric space X, the following statements are equivalent.

- (1) The sequence (x_n) is G-Cauchy.
- (2) For every $\epsilon > 0$, there exists $N \in \mathbf{N}$ such that $G(x_n, x_m, x_m) < \epsilon$, for all $n, m \ge N$.

Let (X, G) and (X', G') be two *G*-metric spaces, and let $f : (X, G) \to (X', G')$ be a function, then f is said to be *G*-continuous at a point $a \in X$ if and only if,

66

given $\epsilon > 0$, there exists $\delta > 0$ such that $x, y \in X$; and $G(a, x, y) < \delta$ implies $G'(f(a), f(x), f(y)) < \epsilon$. A function f is G-continuous on X if it is G-continuous at all $a \in X$.

Proposition 1.5. ([3]) Let (X, G), and (X', G') be two G-metric spaces. Then a function $f : X \longrightarrow X'$ is G-continuous at a point $x \in X$ if and only if it is G-sequentially continuous at x; that is, whenever (x_n) is G-convergent to x we have $(f(x_n))$ is G'-convergent to f(x).

A G-metric space (X, G) is called symmetric G-metric space if G(x, y, y) = G(y, x, x)for all $x, y \in X$, and called Nonsymmetric if it is not Symmetric.

Example 1.6. ([2]) Let (\mathbf{R}, d) be the usual metric space. Define G_s and G_m by

$$G_s(x, y, z) = d(x, y) + d(y, z) + d(x, z), and$$
$$G_m(x, y, z) = \max\{d(x, y), d(y, z), d(x, z)\}$$

for all $x, y, z \in \mathbf{R}$. Then (\mathbf{R}, G_s) and (\mathbf{R}, G_m) are symmetric G-metric spaces.

Example 1.7. ([2]) Let $X = \{a, b, c\}$ and define $G : X \times X \times X \longrightarrow \mathbf{R}^+$ by, G(x, y, z) = 0 if x = y = z G(a, b, b) = G(b, a, a) = 22 G(a, c, c) = G(c, a, a) = 27 G(b, c, c) = G(c, b, b) = 30, G(a, b, c) = 35

extended by symmetry in the variables. It is easily verified that G is a symmetric G-metric, but $G \neq G_s$ or G_m for any underlying metric.

Corollary 1.8. ([2]) Let (X, G) be a symmetric *G*-metric space, then *G* satisfies :

(1)
$$G(x, y, z) \le G(z, y, y) + G(y, x, x).$$

(2) $G(x, y, z) \le G(y, x, x) + G(y, z, z).$

- (3) $G(x, x, y) \le G(x, x, a) + G(a, a, y) = G(x, a, a) + G(a, y, y).$
- (4) $|G(x, x, a) G(x, x, y)| \le G(y, y, a).$

Example 1.9. ([3]) Let $X = \{a, b\}$, and let,

$$G(a, a, a) = G(b, b, b) = 0,$$

$$G(a, a, b) = 1, G(a, b, b) = 2$$

and extend G to $X \times X \times X$ by symmetry in the variables. Then it is easily verified that G is a G-metric, but $G(a, b, b) \neq G(a, a, b)$. Note that the above G-metric does not arise from any metric.

Proposition 1.10. ([3]) Let X be a G-metric space, then the function G(x, y, z) is jointly continuous in all three of its variables.

A G-metric space X is said to be complete if every G-Cauchy sequence in X is G-convergent in X. In ([4]) The following theorem has been proved

Theorem 1.11. ([4]) Let (X, G) be a complete G-metric space, and let $T : X \longrightarrow X$ be a mapping satisfying one of the following conditions

(1.1)
$$G(T(x), T(y), T(z)) \leq \{ aG(x, y, z) + bG(x, T(x), T(x)) + cG(y, T(y), T(y)) + dG(z, T(z), T(z)) \}$$

or

(1.2)
$$G(T(x), T(y), T(z)) \leq \{aG(x, y, z) + bG(x, x, T(x)) + cG(y, y, T(y)) + dG(z, z, T(z))\} + dG(z, z, T(z))\}$$

for all $x, y, z \in X$ where $0 \le a + b + c + d < 1$, then T has a unique fixed point (say u, i.e., Tu = u), and T is G-continuous at u.

The authors divide the proof on the above theorem into two parts. In the first part the theorem proved where the G-metric space assumed to be Symmetric, while in the second part the theorem proved where the G-metric space assumed to be nonsymmetric.

2. Main Results

Now we present several fixed point results on a nonsymmetric complete G-metric space.

Theorem 2.1. Let (X, G) be a nonsymmetric complete *G*-metric space, let $T : X \longrightarrow X$, be a mapping which satisfies the following condition for all $x, y \in X$.

(2.1)
$$G(T(x), T(y), T(y)) \le k \max \begin{cases} [G(x, x, T(x)) + 2G(y, y, T(y))], \\ [G(x, x, T(y)) + G(y, y, T(y)) + \\ G(y, y, T(x))], [G(Ty, Tx, Tx) + \\ G(y, Ty, Ty) + G(x, Ty, Ty)] \end{cases}$$

where $k \in [0, 1/4)$, then T has unique fixed point, say u, also T is G-continuous at u.

Proof. Let $x_0 \in X$ be arbitrary and define the sequence (x_n) , by $x_n = T^n(x_0)$ and assume $x_n \neq x_{n+1}$ for all n. Then by (2.1) we have

$$(2.2) \qquad G(x_{n+1}, x_n, x_n) \le k \max\left\{ \begin{array}{l} [G(x_n, x_n, x_{n+1}) + 2 G(x_{n-1}, x_{n-1}, x_n)], \\ [G(x_{n-1}, x_{n-1}, x_n) + G(x_{n-1}, x_{n-1}, x_{n+1})], \\ [G(x_n, x_{n+1}, x_{n+1}) + G(x_{n-1}, x_n, x_n)] \end{array} \right\}$$

But since

$$G(x_{n-1}, x_{n-1}, x_{n+1}) \le G(x_{n-1}, x_{n-1}, x_n) + G(x_n, x_n, x_{n+1}),$$

it follows that

$$G(x_{n-1}, x_{n-1}, x_n) + G(x_{n-1}, x_{n-1}, x_{n+1}) \le G(x_n, x_n, x_{n+1}) + 2G(x_{n-1}, x_{n-1}, x_n).$$

Then (2.2) reduces to

(2.3)
$$G(x_{n+1}, x_n, x_n) \le k \max \left\{ \begin{bmatrix} G(x_n, x_n, x_{n+1}) + 2G(x_{n-1}, x_{n-1}, x_n) \end{bmatrix}, \\ [G(x_n, x_{n+1}, x_{n+1}) + G(x_{n-1}, x_n, x_n) \end{bmatrix} \right\},$$

we see that inequality (2.3) implies two cases,

Case1:

$$G(x_{n+1}, x_n, x_n) \le k[G(x_n, x_n, x_{n+1}) + 2G(x_{n-1}, x_{n-1}, x_n)].$$

Therefore,

(2.4)
$$G(x_{n+1}, x_n, x_n) \le \frac{2k}{1-k} G(x_{n-1}, x_{n-1}, x_n).$$

Case2:

(2.5)
$$G(x_{n+1}, x_n, x_n) \le k[G(x_n, x_{n+1}, x_{n+1}) + G(x_{n-1}, x_n, x_n)].$$

But since

$$G(x_n, x_{n+1}, x_{n+1}) \le 2G(x_n, x_n, x_{n+1})$$

and

$$G(x_{n-1}, x_n, x_n) \le 2G(x_{n-1}, x_{n-1}, x_n)$$

Then the estimate of the inequality (2.5) will be

(2.6)
$$G(x_n, x_n, x_{n+1}) \le \frac{2k}{1 - 2k} G(x_{n-1}, x_{n-1}, x_n).$$

Putting $a = \frac{2k}{1-k}$ and $q = \frac{2k}{1-2k}$, then the fact a < q implies that the inequalities (2.4) and (2.6) reduce to

$$G(x_{n+1}, x_n, x_n) \le qG(x_{n-1}, x_{n-1}, x_n).$$

70

Solving this recursive inequality we have

(2.7)
$$G(x_n, x_n, x_{n+1}) \leq q^n G(x_0, x_0, x_1).$$

For all $n, m \in \mathbf{N}$; n < m, we use repeated rectangle inequality and (2.7) to obtain

$$G(x_n, x_n, x_m) \le \sum_{j=n}^{m-1} G(x_j, x_j, x_{j+1})$$
$$\le \sum_{j=n}^{m-1} q^j G(x_0, x_0, x_1)$$
$$\le \frac{q^n}{1-q} G(x_0, x_0, x_1)$$

which implies that (x_n) is a G-Cauchy sequence in the complete G-metric space X. Thus, the sequence (x_n) is G-convergent to u in X.

Now let us prove that T(u) = u. To do so, we assume on the contrary that $T(u) \neq u$. Then,

$$G(T(u), x_n, x_n) \le k \max \begin{cases} [G(u, u, Tu) + 2 G(x_{n-1}, x_{n-1}, x_n)], \\ [G(u, u, x_n) + G(x_{n-1}, x_{n-1}, x_n) + \\ G(x_{n-1}, x_{n-1}, Tu)], [G(x_n, Tu, Tu) \\ + G(x_{n-1}, x_n, x_n) + G(u, x_n, x_n)] \end{cases}$$

Letting $n \longrightarrow \infty$ and using the fact that the function G is continuous in its variables we obtain

(2.8)
$$G(u, u, Tu) \le k \max\{G(u, u, Tu), G(u, Tu, Tu)\}.$$

But since

$$G(u, Tu, Tu) \le 2G(u, u, Tu),$$

the inequality (2.8) implies that

$$G(u, u, Tu) \le 2kG(u, u, Tu)$$

This contradiction implies that Tu = u.

To Prove Uniqueness, suppose that $v \neq u$ such that Tv = v, then

$$G(u, v, v) = G(Tu, Tv, Tv) \le k \max \left\{ \begin{cases} [G(u, u, u) + 2G(v, v, v], \\ [G(u, u, v) + G(v, v, u], \\ [G(v, u, u) + G(u, v, v)] \end{cases} \right\}$$

then,

$$G(u, v, v) \le k[G(v, u, u) + G(u, v, v)]$$

Therefore, $G(u, v, v) \leq \frac{k}{1-k}G(v, u, u)$.

Similarly we get

$$G(v, u, u) \le \frac{k}{1-k}G(u, v, v)$$

Consequently,

$$G(u, v, v) \le (\frac{k}{1-k})^2 G(u, v, v)$$

which implies that u = v, since $0 < (\frac{k}{1-k})^2 < 1$.

To show that T is G-continuous at u, let $(y_n) \subseteq X$ be a sequence such that $\lim(y_n) = u$, then, from (2.1) we deduce that

$$(2.9) \quad G(T(y_n), T(u), T(u)) \le k \max \left\{ \begin{array}{c} [G(y_n, y_n, T(y_n)) + 2 G(u, u, T(u))], \\ [G(y_n, y_n, T(u)) + G(u, u, T(u)) + \\ G(u, u, T(y_n))], [G(T(u), T(y_n), T(y_n)) \\ + G(u, T(u), T(u)) + G(y_n, u, u,)] \end{array} \right\}$$

By the rectangle inequality,

$$G(y_n, y_n, T(y_n)) \le G(y_n, y_n, u) + G(u, u, T(y_n))$$

Hence, we deduce that the equation (2.9) becomes

(2.10)
$$G(T(y_n), T(u), T(u)) \le k \max \left\{ \begin{array}{c} [G(y_n, y_n, u) + G(u, u, T(y_n))], \\ [G(T(y_n), T(y_n), u) + G(y_n, u, u)] \end{array} \right\}.$$

We see that equation (2.10) implies two cases

Case (1):

(2.11)
$$G(T(y_n), T(u), T(u)) \le k \{ G(y_n, y_n, u) + G(u, u, T(y_n)) \},$$

then equation (2.11) becomes

(2.12)
$$G(T(y_n), T(u), T(u)) \le \frac{k}{1-k} G(y_n, y_n, u),$$

but since $G(y_n, y_n, u) \leq 2G(y_n, u, u)$, we will have

(2.13)
$$G(T(y_n), T(u), T(u)) \le \frac{2k}{1-k} G(y_n, u, u).$$

Case (2):

(2.14)
$$G(T(y_n), T(u), T(u)) \le k \{ G(T(y_n), T(y_n), u) + G(y_n, u, u) \}$$

By rectangle inequality,

(2.15)
$$G(T(y_n), T(y_n), u) \le 2G(Ty_n, u, u).$$

Therefore, the inequality (2.14) implies that

$$G(T(y_n), T(u), T(u)) \le k \{ 2G(Ty_n, u, u) + G(y_n, u, u) \},\$$

which implies that

(2.16)
$$G(T(y_n), T(u), T(u)) \le \frac{k}{1 - 2k} G(y_n, u, u),$$

In equations, (2.13) and (2.16), taking the limit as $n \to \infty$, we see that $G(u, T(y_n), T(y_n)) \to 0$ and so, by Proposition 1.5, we have $T(y_n) \to u = Tu$. This implies that T is G-continuous at u.

Corollary 2.2. Let X be a complete nonsymmetric G-metric space, let $T : X \longrightarrow X$, be a mapping which satisfies the following condition, for all $x, y, z \in X$ (2.17)

$$G(T(x), T(y), T(z)) \le k \max \begin{cases} [G(x, x, T(x)) + G(y, y, T(y)) + G(z, z, Tz)], \\ [G(x, x, T(y)) + G(y, y, T(z)) + G(z, z, T(x))], \\ [G(Tz, Tx, T(x)) + G(z, T(y), T(y)) + \\ G(x, T(z), T(z))] \end{cases}$$

where $k \in [0, 1/4)$, then T has unique fixed point, say u, and T is G-continuous at u.

Proof. Taking z = y in condition (2.17) it reduced to condition (2.1) in Theorem (2.1), so, the proof follows from Theorem (2.1).

Theorem 2.3. Let X be a complete nonsymmetric G-metric space, and let $T: X \longrightarrow X$, be a mapping which satisfies the following condition for all $x, y, z \in X$,

(2.18)
$$G(T(x), T(y), T(z)) \le k \max \left\{ \begin{array}{l} [G(x, x, T(y)) + G(y, y, T(x))], \\ [G(y, y, T(z)) + G(z, z, T(y))], \\ [G(x, x, T(z)) + G(z, z, T(x))] \end{array} \right\}$$

where $k \in [0, 1/2)$, then T has unique fixed point (say u), and T is G-continuous at u.

Proof. For $x_0 \in X$, define the sequence (x_n) by $x_n = T^n(x_0)$, assume that $x_n \neq x_{n+1}$ for all n, then by (2.18) we get

$$(2.19) \qquad G(x_n, x_n, x_{n+1}) \le k \max \begin{cases} [G(x_{n-1}, x_{n-1}, x_n) + G(x_{n-1}, x_{n-1}, x_n)], \\ [G(x_{n-1}, x_{n-1}, x_{n+1}) + G(x_n, x_n, x_n)], \\ [G(x_{n-1}, x_{n-1}, x_{n+1}) + G(x_n, x_n, x_n)] \end{cases}$$

$$= k \max\{G(x_{n-1}, x_{n-1}, x_{n+1}), 2 G(x_{n-1}, x_{n-1}, x_n)\}$$

therefore equation (2.19) implies two cases:

Case1:

(2.20)
$$G(x_n, x_n, x_{n+1}) \le kG(x_{n-1}, x_{n-1}, x_{n+1})$$

but from rectangle inequality we have the estimate

$$G(x_{n-1}, x_{n-1}, x_{n+1}) \le G(x_{n-1}, x_{n-1}, x_n) + G(x_n, x_n, x_{n+1}),$$

so equation (2.20) implies that

(2.21)
$$G(x_n, x_n, x_{n+1}) \leq \frac{k}{1-k} G(x_{n-1}, x_{n-1}, x_n),$$

Case 2:

$$G(x_n, x_n, x_{n+1}) \le 2kG(x_{n-1}, x_{n-1}, x_n).$$

Putting $q = \max\{\frac{k}{1-k}, 2k\}$ and using the fact $k < \frac{1}{2}$, we will have q < 1. So,

(2.22)
$$G(x_n, x_n, x_{n+1}) \le qG(x_{n-1}, x_{n-1}, x_n).$$

Solving this recursive inequality we have

(2.23)
$$G(x_n, x_n, x_{n+1}) \le q^n G(x_0, x_0, x_1).$$

For all $n, m \in \mathbf{N}$; n < m, we use repeated rectangle inequality and equation (2.23) to obtain

$$G(x_n, x_n, x_m) \le \sum_{j=n}^{m-1} G(x_j, x_j, x_{j+1})$$
$$\le \sum_{j=n}^{m-1} q^j G(x_0, x_0, x_1)$$
$$\le \frac{q^n}{1-q} G(x_0, x_0, x_1).$$

Which implies that (x_n) is a G-Cauchy sequence in the complete G-metric space X. Thus, the sequence (x_n) is G-convergent to u in X.

Now suppose that $T(u) \neq u$, then

$$G(x_n, x_n, T(u)) \le k \max \left\{ \begin{aligned} & [G(x_{n-1}, x_{n-1}, x_n) + G(x_{n-1}, x_{n-1}, x_n)], \\ & [G(x_n, x_n, T(u)) + G(u, u, x_n)], \\ & [G(x_{n-1}, x_{n-1}, T(u)) + G(u, u, x_n)] \end{aligned} \right\}.$$

Letting $n \longrightarrow \infty$, and using the fact that the function G is continuous in its variables, we get

$$G(u, u, T(u)) \le kG(u, u, T(u)).$$

This contradiction implies that u = T(u).

To prove uniqueness, suppose that $v \neq u$ such that T(v) = v, then

(2.24)
$$G(u, v, v) \leq k \max \left\{ \begin{bmatrix} G(u, u, v) + G(v, v, u) \end{bmatrix}, \\ [G(v, v, v) + G(v, v, v)], \\ [G(u, u, v) + G(v, v, u)] \end{bmatrix} \right\},$$

so we deduce that

$$G(u, v, v) \leq k \left[G(u, u, v) + G(v, v, u) \right].$$

Therefore,

$$G(u, v, v) \le \frac{k}{1-k}G(v, u, u).$$

Similarly,

$$G(v, u, u) \le \frac{k}{1-k}G(u, v, v),$$

thus we have,

$$G(u, v, v) \le \left(\frac{k}{1-k}\right)^2 G(u, v, v).$$

This contradiction implies that u = v.

To show that T is G-continuous at u, consider $(y_n) \subseteq X$ any sequence such that $\lim(y_n) = u$ in X, then

$$(2.25) \qquad G(T(y_n), T(u), T(u)) \le k \max \left\{ \begin{bmatrix} G(y_n, y_n, T(u)) + G(u, u, T(y_n)) \end{bmatrix}, \\ \begin{bmatrix} G(u, u, T(u)) + G(u, u, T(u)) \end{bmatrix} \\ \begin{bmatrix} G(y_n, y_n, T(u)) + G(u, u, T(y_n)) \end{bmatrix} \right\}$$

Thus, equation (2.25) reduces to

(2.26)
$$G(T(y_n), u, u) \leq k[G(y_n, y_n, u) + G(u, u, T(y_n))].$$

Therefore the inequality (2.26) implies that

(2.27)
$$G(T(y_n), u, u) \le \frac{k}{1-k}G(y_n, u, u).$$

Taking the limit of (2.27) as $n \to \infty$ and using Proposition 1.5, we have $T(y_n) \to u = Tu$ which implies that T is G-continuous at u.

Corollary 2.4. Let X be a complete nonsymmetric G-metric space, and let $T: X \longrightarrow X$ be a mapping satisfies the following condition

$$(2.28) \qquad G(T(x), T(y), T(z)) \le k \{ G(x, x, T(x)) + G(y, y, T(y)) + G(z, z, T(z)) \}$$

for all $x, y, z \in X$, where $k \in [0, 1/3)$. Then T has a unique fixed point (say u), and T is G-continuous at u.

Proof. By taking a = 0, b = c = d = k in condition (1.2) of Theorem (1.11), then condition (2.28), becomes special case of Theorem (1.11), so the proof follows from Theorem (1.11)

Corollary 2.5. Let (X,G) be a complete nonsymmetric *G*-metric space, and let $T: X \longrightarrow X$, be a mapping satisfying the following condition

(2.29)
$$G(T(x), T(y), T(z)) \le \alpha G(x, y, z) + \beta \begin{cases} G(y, y, T(y)) + G(z, z, T(z)) + \\ G(x, x, T(x)) \end{cases}$$

for all $x, y, z \in X$, where $0 \le \alpha + 3\beta < 1$. Then T has unique fixed point (say u), and T is G-continuous at u.

Proof. By taking $\alpha = a, b = c = d = \beta$ in condition (1.2) of Theorem (1.11), then condition (2.29), becomes special case of Theorem (1.11), so the proof follows from Theorem (1.11)

Acknowledgements: The authors would like to thank the anonymous referees for their suggestions for improving the paper.

References

 Z. Mustafa and B. Sims, Some Remarks Concerning D-Metric Spaces, Proceedings of the Internatinal Conferences on Fixed Point Theorey and Applications, Valencia (Spain), July (2003). 189–198.

- [2] Z. Mustafa, A New Structure For Generalized Metric Spaces With Applications To Fixed Point Theory, PhD Thesis, the University of Newcastle, Australia, 2005.
- [3] Z. Mustafa and B. Sims, A New Approach to Generalized Metric Spaces, Journal of Nonlinear and Convex Analysis, Volume 7, No. 2 (2006). 289–297.
- [4] Zead Mustafa, Hamed Obiedat and Fadi Awawdeh, Some Fixed Point Theorem for Mapping on Complete G- metric Spaces, Fixed Point Theory and Applications, vol. 2008, Article ID 189870, 12 Pages, 2008. doi: 10.1155/2008/189870

The Hashemite University, Department of Mathematics,, P.O. Box 150459, Zarqa 13115, Jordan

E-mail address, Hamed Obiedat: hobiedat@hu.edu.jo *E-mail address*, Zead Mustafa: zmagablh@hu.edu.jo